Limiting Reagent Practice



Name ___________________________

Show all work and units.  Round answers using significant figures.  Remember to balance all equations!!
1.  Determine the limiting reagent if 2.6 moles of CaC2 reacts with 2.9 moles of water.  Calculate the

     number of moles of C2H2 produced.

CaC2   +   H2O   →   C2H2   +   Ca(OH)2
2.  12.8 grams of sodium reacts with 20.7 grams of water to form sodium hydroxide and hydrogen gas.   

     Determine the limiting reagent and the number of moles of NaOH produced.  

3.  What mass of FeCl3 is formed when 4.73 grams of iron reacts with 2.21 grams of chlorine gas.  First

     determine the limiting reagent. 

4.  What is the limiting reagent if 7.11 x 1026 atoms of magnesium react with 9.83 x 1025 molecules of

      hydrochloric acid?  How many moles of hydrogen gas is formed?  

5.  3.7 liters of sulfur dioxide react with 3.0 liters of oxygen gas.  How many moles of sulfur trioxide are

     produced?

6.  In the reaction ,  CH4  +  O2   →   H2O   +   CO2,  how many liters of carbon dioxide are formed from

     2.5 liters of CH4 and 7.5 liters of oxygen gas?    

7.  How many grams of water is formed if 9.6 liters of oxygen reacts with 8.25 liters of hydrogen? 

H2   +   O2   →    H2O

8.  When 6.13 x 1012 atoms of magnesium react with 11.2 x 1011 molecules of phosphoric acid, how many

     grams of magnesium phosphate is made?

Mg   +   H3PO4    →    Mg3(PO4)2   +    H2
Limiting reagent and excess reagent
9.  How many grams of copper are produced when 2.73 grams of aluminum react with 1.75 grams of

     copper(II) sulfate?   What is the excess reagent?  How many grams of the excess reagent remains after

     the reaction?

10.  82.0 grams of silicon dioxide, SiO2, and 95.0 grams of carbon produce how many molecules of

       carbon monoxide?   What is the excess reagent?  How many grams of the excess reagent is unused

       after the reaction runs to completion?

SiO2     +    C    →    SiC  +    CO
3

